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Problem quickname: 6894

1)
Calculate the result.

a) 140600 - 7400
d) 212000 = 5300
g) 549400 = 6700
i) 704000 = 8800

2)

Calculate the result.
a) 240 + 10
e) 710 = 10
i) 980 = 10
3)

Calculate the result.

a) 576000 < 18000
d) 47400 = 790

g) 48000 =+ 1600

i) 22040 =+ 380

4)

Calculate the result.

a) 4000 + 1000
e) 41000 + 1000
h) 4200 = 100
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b) 7700 <+ 100
£) 4800 + 100
i) 400 = 10

b) 672400 + 8200
e) 532800 =+ 7400

h) 4608000 <+ 64000

b) 141900 + 3300
e) 817000 <+ 8600
h) 213200 + 4100

b) 5700 + 100
£) 6400 + 100
i) 7000 <+ 1000
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¢) 6500 =+ 100
g) 730 = 10

c¢) 59000 = 1000

¢) 324000 + 54000
£) 475700 + 7100
i) 7372000 < 97000

d) 180 = 10
h) 1900 <+ 100

¢) 2400000 = 30000
£) 28420 = 980
i) 131600 <+ 1400

d) 3700 + 100
g) 260000 < 10000

j) 3200 =+ 100
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